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G (NBE) S5H6UDEETTCLET :
(<) 2016é T 12,000 ﬁ]msu#@&rrgg]é;asm QrréasHn e euntdwea.

(=) Hlenavg Q&rrg,gw;a;m (é{LESS eflenv T 4,000; @Gﬁfﬂpg
@g;u_u.orrezsrm T 1,500) Gjl_(b\ Lo;ﬁl_n_%v aﬂg)asuuu_cur

(&) 201646 (Bgsu_lmrrmm £ 5500 @mnupnu& a;mra;a%]a) LJLDQ]

GneUGEL] uL_n_@ "
(/) 20166, . 3,000 URETSTWLID QFaSsLiL L g, . o
B8 @ L eiflémas surfisseib.
The sales and profits/losses are éiven 1t.)elow 4.
Year Sales (¥) Profit/loss (%)
2015 7,00,000 10,000 (loss)
2016 9,00,000 10,000 (profit)

The selling price per unit is ¥ 100. Calculate
(@) The number of units to break even and

(b) The number of units to earn a profit of T 50,000.

eflpuenar LHmd eoru pL ellairhisdr SriuLGiererg).

2O s pLienar (T) @i/ (%)
2015 7,00,000 10,000 (p115)
2016 9,00, 000 10, 000 (@a)rrum)

@ é{euaﬂm aﬁ]mumaﬂ aflene T 100 erens; Qamem(.

(=1) @evrru ;r)l_l_uSJcoeurr LF,]GU)G\) SiwGsaia, ‘LDQ)QILD

(<) T 50,000 aomuib mi L Ceameuwirer e{a')‘@a;ei'r. SaTSE (DS,
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Time : Three hours + Maximum : 75 marks
PARTA —(10%x2=20 marks)
Answer any TEN quest1ons

1. ©~ Whatis management accounting?

GuerairenLo sarTéElLIc) CTEDTE) Temen?
2.-  What is:meant by ‘Analysis of data’?

Lérer] QS]@JgréJa;GmGﬂ.u@uutruhg,@ GTETLIG WITE)?
3.  What is meant by ratio analyeis?

AL LELUTLe GTEDTE GTean?

4. What is meant by funds flow statement?

L o

B8 @l L aidéms Greirr,rprréo_crfetmm‘?
5.  Whatis budget? !
euyey ngmg 'QL_I_LD CTELIG! WITg)?
6.  State the meaning of marginal cost.

Qg Hlene oiLsss Qsaa] eramLiSlen Qurr@en S(H3.

7. What is meant by P/V ratio?

umisetli elflgid eremig) wirg?
& Calculate stock from the follow1ng particulars :

Current rat1o = 1.5; Quick ratio = 1; current liabilities =
¥-3,00,000.

IQG?HG\J@Lb efeurrisatled(hbg FrsEdmLienu assmrréséﬂ'@_a;.
pLiy effgd = 1.5 Ceus efdflsd = 1; pLiy Qumpliysdr -
T 3,00,000. :

9. Find P/V ratio from the following :

(a) “Sales T 1,00,000

(b) Variable cost T 70,000.
19 6meu (LD @S]Guryma;mmas Gastrcm@ urmasaﬂuu e AGID semsd B s.

(21) efpuewer T 1,00,000, (c%) wrmb Qeeey T 70,000.
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10.

11.

12.

13.

14.

How do the following appear in a common size balance sheet?
Particulars 9971 (T) 2012 (%)
Fixed assets 5,00,000 6,00,000
Current assets 2,00,000° 3,00,000

Total assets 7,00,000 9,00,000

Qurg serey Q@UY Hlavews GHILGed Gateumhd QabigHT 6ThiBIGTLD
@LbCumib? ‘

-~

eflaupThigar 2011 (%) 2012 (%)
Blevowirer QaTsg saer 5,00,000 6,00,000
BL L) QEnggiGaar 2,00,000 3,00,000

Quorngs Qstsgéser  7,00,000  9,00,000

From the fo_llov_v_ing particulars, prepare production budget.
Estimate stock on 1.1.2018 = 2,000 units
Estimate sales for Jan. 2018 = 10,000 units
Desired closing stock on 31.1.2018 = 3,000 units.
emeu(mLd elleugrisamend Qamear(h 2 HuSSH S il iguwied gwnflss.
1.1.2018 ey Hliemrudss L 76 = 2,000 Se@sar
sanafl 2018&@ flitamulssiiu’ L. elpuenar = 10,000 e @sar
31.1.2018&@ pigey Aeibwliul L @midl s7é&@ = 3,000 Sev@aar.
Calculate average collection period :
Credit sales ¥ 73,000; accounts receivables ¥ 11,000.
gymefl au@ed sTebd a;s’o‘oré;é]@a; :
sLan edpuianar T 73,000; Qupsdasar T 11,000.

PART B — (5 x 5 = 25 marks)

Answer any FIVE questions.
What are the essentials of effective budgeting?
uweyerer S w1y DERw ssHumeldluibiser wmeneu?
Distinguish funds flow statement from cash flow statement.

A @l sifsmaamu Qrrés gL @lgﬁlésemsuﬁ]mm@mguu®§@a;.
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23. Following are the balance sheet of a company.

Liabilities 2015 2016 Assets 2015 2016
T 3 T T

Share capital 50,000 53,000 Cash 20,000 25,000
Long term debt 14,000 13,000 Debtors 24,000 27,000
P and L Alc 28,000 37,000 Inventories 31,000 32,000
Accumulated Other current

depreciation 21,000 25,000 assets 8,000 7,000
Sundry creditors 20,000 21,000 Fixed assets 50,000 58,000

1,33,000 1,49,000 1,33,000 1,49,000
Additional information :

(a) Fixed assets costing ¥ 12,000 were purchased during the
year 2016 for cash.

(b) Fixed - assets (original cost ., T 4,000; accumulated
depreciation ¥ 1,500) were sold at book value.

(¢ Depreciation for the year 2016 amounted to ¥ 5,500 which
has been debited to P and L A/c.

(d) During 2016, dividends paid ¥ 3,000.
Prepare a funds flow statement.

emeucpLianeu g Hlmiwsder QUi Flaad @DILL&emmE .
Qurmi&er 2015 2016  QanggisseT 2015 2016

z § - ¢
LkiE s 50,000 ' 53,000 Qurésid 20,000 25,000
BetrL_ smeoid _ SLaTefl&6T 24,000 27,000
sLan 14,000 13,000 .
@/b sl . 28,000 37,000 sysdmuiy 31,000 32,000
&b5 Qs iy |
Gsimanth 21,000 25,000 Qsnggéedr 8,000 7,000
sLafiCamit 20,000 21,000 Baed
Qars g saeT 50,000 58,000
1,33,000 1,49,000 1,33,000 1,49,000
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22.

 epel@urmar — ‘o’

L

The sales of a concern for the next year is estimated at 50,000

units. Each unit of the product requires 2 units of Materials A

* and 3 units of material B. The estimated opening balances at the -

beginning of next year are :
Finished product : 10,000 units
Raw material A : 12,000 u_ﬁits

Raw material B : 15,000 units

. The desirable closing balances at the end of the next year are :

Finished product : 14,000 units -

Raw material A’ : 13,000 units
Raw material B :* 16,000 units
Prepare the materials purchase budget for the next year.

@0 Ppeasdar Qs war® efpuamen 50,000 w@s6T eTan
LA LILLLg. 2 HuSH Quirefien @aiQanm DeADGD ‘of
eremggitd apaIGuTHaiid 2 BieEs(EsLb ‘o erénanitd epalIALTmaf 3
SIDGS(@HLD Gg,mmﬂu@fo.‘

2B85 eTH roUsHS  LAUSH QsburLCL  epmbL
QmuyseTTeua : ‘

2 HuSH Wiy ss QuHp Gurmer : 10,000 i@ @ser

epeli@urmer — ‘o : 12,000 i0o@ser

: 15,000 s@ser

| =055 20 @GS AELLLLED Bl @ELLsT

2 puSH WissL Qupp Gumer : 14,000 i @seT
epeLIQummET — ‘=f : 13,000 i@ @sar

ewarQurmer— ‘< : 16,000 @i@ser

OBss p@mghHETar  epeol@AUImET  GsTaTpsD QI_I_‘QS‘QGU)GOT

swrfl&&ay L.
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15.

16.

Calculate :

Cash ¥ 18,000; debtors
b111s payable T 27,000; credltors T 50,000; tax payable T 75,000

T 1,42,000;

and outstand_mg expenses ¥ 15,000.

(1) pruy 9850 (<) Bio eldsd wHOIL (&) @@mmu_lrrsm B

el fgLd sanéslHs.

Qprasnd T 18,000; sLameflaar T 1,42,000; spadluy T 1,80,000;
QsussnENu wromé 8.6 T 27,000; sLafbCsri T 50,000; Qeaiss
Geuaimgw el T 75,000 wpmid Qar@uLT Asoesar T 15,000.

Prepare a common size statement :

Particulars

Assets :

Current assets

Fixed assets

Liabilities and capitals :

Share capital

Long term debt

Current liabilities

Qung Hleve SiHsamas swrflés.

eSleurmigGeET

QTS gIEHEHET :

LA QerggisseT

;E]G,o’)@)é-@&rr{&_’é@é;&@

QuUrQIILSHEHD PSILD :

UMBIE (WS

Ber &re SL6

BLUL QurmitiLser

(a) current ratio; (b) liquidity ratlo and (c) absolute
liquidity ratio. .

stock ¥ 1,80,000;

. 2015 2016
T T
3,68,000 4,00,000
6,35,000 6,50,000
10,03,000 - 10,50,000
6,58,000 7,00,000
2,25,000 2:00,000
1,20,000 1,50,000
10,03,000  10,50,000
2015 2016
& oz
3,68,000 4,00,000
6,35,000 6,50,000
10,03,000  10,50,000
~6,58,000 7.00,000
2,25,000 2.00,000
1,20,000 1,50,000
10,03,000  10,50,000
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17.. The following details are available from a company.
Liabilities 2015 2016  Assets 2015 2016

T T T T
Share capital ~ 70,000 74,000 Cash 9,000 7,800
Debentures 12,000 6,000 Debtors 14,900 17,700
Creditors 10,360 11,840 Stock 49,200 42,700
Reserve for Land '20,000 30,000

doubtful debts 700 800
Pand L Alc P 10,040 10,560 Goodwill 10,000 5,000
1,03,100 1,03,200 1,03,100 1,03,200

You are required to calculate funds from operation.

@@ Hniwgdlen eloughisd sruulHererar.

Qumrgilisar 2015 2016 Qarggissar 2015 2016 ' 19.
T T T T
LG (PSed 70,000 74,000 Qyr&sbd 9,000 7,800
Sai_(HLI LGSID 12,000 6,000 sLanmefaer 14,900 17,700
sLABOSTT - 10,360 11,840 sysfmiL- 49,200 * 42,700
BWGS sL6 g15E 100 .800 Hleow 20,000 30,000
@QeruplL &/G 10,040 10,560 mH@uui 10,000 5,000
1,03,100 1,083,200 1,03,100 1,03,200 | 20.
dewe el Hiflenws sansd(Hs. | ,
18. From the following information, prepare a cash budget for the
period from January to April. 91,
Month * Expected sales Expected purchases
i z z
~ January 60,000 48,000
February 40,000 45,000
March 45,000 31,000
_ April 40,000 " 40,000 :

Wages to be paid to workers will be ¥ 5,000 per month. Cash

balances on 1st January to be T 8,000.
: 4 60556/CYASA

Getreu(pd elleuphsamers Qaramh sareufl wpsed LT @J@s;quﬁleurr'em
snsdne Arrés aure) Aewey L Famss swmilss.
orgd  Hiarufsaiul L Bliarudssiul

Apuemer QareTpse
T T
gaeufl | - 60,000 48,000
Qigeuf 40,000 45,000
LOITITE 45,000 31,000
SEl ) 40,000 40,000

wrgb @am&se X 5,000 Qgmflereris@ErsE smeluns aupms L
Geuar(id. saeufl apsed Csdwanpy T 8,000 sl drréswrs
QGLETE

Sales T 1,00,000; Variable cost ¥ 60,000; fixed cost ¥ 30,000.
Find out P/V ratio; break even sales and margin of safety.

edpuear T 1,00,000; wroyb Qsewey T 60,000; wrpr Geaay T 30,000
<G, umsaily elfsn; @eoru pLLwpp efpuemer HmLD
urgeriiy UG el puemaen sarsd (Hs.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.
Describe the differences between financial accounting and
managginent accounting. i ;
Hd Hlaews sansdugseh Coararans sSars&SU@IGE@ED 2 6rar
Coumur@®sener afleui. ;

Following are the ratios relating to X Co.Ltd., gross profit
ratio = 15%; stock velocity = 6 months; debtors velocity =
3 months; creditors velocity 3 months; and gross profit =

T 60,000. Closing stock is equal to opening stock. Find out
(a) sales; (b) debtors (c) closing stock and (d) creditors.

X fpwsdean cflsmaser £Cp Asrhasiul Gererar : Gwrds Qe
g = 15%; 16 spHd = 6 wrgmseT sLameilser spOS =
3 wigrseT; sLaBCsMT spHdl = 3 wrgRiser Cwrgs @b

T 60,000. @md sradmuL Qam_ss sradlmukdne sowms BGHES |

.erané Qaram(® (1) elpuemer; () sLamailser; (&) @nEsrésmly

wHOID (FF) SLaTBCHTT Senmsd (&,
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